A Wedding in Brownsville

Textual Questions
(A) Tick the correct alternative :

Question 1. Sencimin was a:

(a) marriage hall
(b) Town in Poland North America
(d) none of the alone

Answer: (b) Town in Poland North America

Question 2. Margolin often referred to him self as :

a) a good citizen

b) an agnostic and atheist
¢) social worker

d) none of the above
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Answer: (b) an agnostic and atheist

Question 3. Gretle was maniac for :

a) cleanliness

b) new dresses

¢) her social status
d) all of the above
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Answer: (a) cleanliness

(B) Answer the following questions in about 15-20 words each :

Y UQA® U BT IR 15-20. Wea] H ST :

Question 1. Why did Margolin not want his wife to go with him to the wedding ?

AR T U&T BT 30+ 1Y ST H 1 ol o ST dTedT UT?



Answer: Margolin did not want his wife to go with him because he felt ashamed of his
community which was a mess.

ARMT 370 Ut Y U= 1 8! o ST Agdl UT i 98 U~ AT & ford wftfar ot
S b Srdeasd ol

Question 2. How did Margolin regard his wife quietly?

AR SO Ul BT AT B JHAH Bl UT?

Answer: Margolin regarded his wife quietly because she suffered silently for her two
brothers even for Hans, the Nazi.

TR SOT Uil T GUITT AT bR AT Flfes I8 31U < Higdl o fod HY Fe
Bt ot Ugl dep b 8 o ford ot Siifeb =reft

Question 3. Why did Jews leave their home town?
ggfadl = 3(UH1 98 TR &l Blel?

Answer: Jews left their home town because the Nazis killed them and survivors took
refuge in U.S.A.

qﬁﬁ?ﬁﬁauﬂmsﬂw ST feaT i AR 32 AR ST oIk 9 g At 3 3
TR Al SR

Question 4. Why couldn’t Margolin marry Raizel?
AR ISl Y T il 751 PR Fob?
Answer: Margolin couldn’t marry Raizel because they had different social status.

ARMICH Iaeid T YIS el B b Rifh AT ATHTTD I AT -3 T UT|

Question 5. Who was the lady to whom Dr Margolin suddenly came across at the
wedding?

g8 dfed & f S99 1. ARfeH &1 faarg TuRIe # srams He gs o

Answer: The lady was Raizel whom Dr. Margolin loved and wanted to marry.



gg Afgar Tavrd Y S 81, ARMH @R &d ¥ 3R S faarg &A1 @gd 91

Question 6. According to Jewish law, Dr Margolin was unmarried. How?
gl BT & AR 1. AR sffdared &1 &

Answer: According to Jewish law, Dr Margolin was unmarried because he and Gretl had
only a civil ceremony.

gl B & IR, 1. AR SHfddiigd & Hifd I U1 U A dhad AR
TARIE fovarm |

Question 7. Was Raizel a hallucination or was she really alive?

T IV T & YA ot a7 98 arda | Sitfaq e

Answer: Raizel was a hallucination. It was caused by Margolin’s suppressed desire of
marrying her.

Igoid U 2P YA Y | I8 3! I0uid I faa1g B 3 <fird 361 o1 giomd i

(C) Answer the following questions in about 50 words each :
9 Td% U9 BT IR 50 sal H GIfoTe :
Question 1. who were the Senciminers ?

ARt P A 2

Answer: Sencimin was a town in Poland hence Senciminers belonged to Poland. They
were Jewish people. During Hitler's despotic rule in Germany, all the Jews were
exterminated and wiped out mercilessly. The people who survived, somehow, ran away
and took shelter in North America (USA).

IR dicius © U MEx T 31a: SR Uicivs @&RIfEE) o 789 ard @t 31 3 Igdl am
Y| fReeR & AR AR & SR o1 & IR ggfeal &1 AR foar mar sk

IpT G HR a1 T 3 Ay off frdll aRe 99 T ¥, 9 Wi T ek IRt Rt
384 IRUT A T




Question 2. What is the Hippocratic oath ?

feuiichfess iy (T T g ?

Answer: Hippocratic oath is an ethical code which governs the professional conduct of
doctors. This oath is taken by the scholars who complete their medical degree. There are
eleven promises in it, which are made by the prospective doctors in order to stay honest
and dedicated to their patients or profession.

%@ﬁa&muwﬁ%ﬁ%m%ﬁﬁr%ﬁ@ﬁ%ww%mﬁﬁ%&m
HRAT ¢ | T8 W0 3 fagHI GRT Tt STt § o 3O ffhaiid Ugls Il @3 & | S8 TR
(11) I9 T 91 BId & ol fob &1 aTal Slaex A1 fafercds ad & o b 3 3= 7t

awauﬁmw%uﬁéuwawﬁa@

Question 3. Why had the wedding been a burden to Dr Margolin?
S1. AR o fore faaTg Teh sigt =i <@1?
Or

In the opening line of the story, the author says, “The wedding had been a burden
to Dr Margolin from the very beginning.” Why was it a burden ?

HeTH! & HRAIG arag H S Hedl g, "SI AR & ford faarg 3= I & iy |1 Tl
T8 S I T ?

Answer: The wedding had been a burden to Dr. Margolin for following reasons :

1. He was very dedicated and honest to his profession hence he was the busiest
physician in the town.

2. Except Sunday he had no spare time for his wife Gretl.

3. He was the member of different Jewish organisations so he attended all the
meetings regularly.

9 RN A 7 ARMeH g9 faare &1 gt WU JHSA A -

1. 98 3T 99T & Ufd ATIH TAMT 3R SHMER ¥, 39 HRU 98 Ve P Jaiid
I STaex 4|

2. AUIIR & 3dTaT I U U Uedt & T pIs THT Tal gidT UT|

3. 9P 3fdrar, 98 fafts ggdl dmel & vaw 9, sufon 3% Faffa wu 9 gt
TS H IURYd g1 TS Ul




Question 4. How can you say that Dr Margolin was an honest and dedicated
doctor?

37 I8 frd TR 8 Ihd & fb ST, AR T SHMER Ul JHUd STaex A2

Or

What was Dr Margolin’s attitude towards his profession? (S.S. Exam. 2012, 2016,
2017)

U IR & Ufd ST ARG BT 3@ BT UT ?

Answer:

1. Dr Margolin’s attitude towards his profession was very honest and dedicated. As a
doctor he strictly practised the Hippocratic oath (code of conduct for doctors).

2. He was so dedicated to his patients that he hardly had any off day to spend time with
his wife Gretl.

3. He treated rabbis, refugees, and Jewish writers without charge, supplying them with
medicines. Thus we can say that he was an honest and dedicated doctor.

1. ST ARANCH T 310 AR b Ul 3 gl & SHMGRYU g YA o7l T STaex 8
gqﬁammmﬂ (et & ford aaaiRie SRR dfgdr Gra=it 95+) &1 Has
UINE] |

2. 98 310 Aol o Ufd 3a- THiUd 3 6 SOt Uell Jed & 1Y 9T did H & ol
I8 T WS 51 s el 3&@d Ul

3. 98 gt YTt IRUNfEY iR Tg<). Taeh! &1 fomT By & 3ars #d & 3R 35
casdT IUA HRIA A | 59 UBR §H H8 Pbd & (& 98 U SHFGR dUT JAMd STaer 3|

Question 5. What was Dr Margolin’s past ?

1. AR T 3fciid BT UT?
Or

What do you know of Dr Margolin’s past?



ST ARMICA & 3fcitd & v & 39 1 S 8 2

Answer: Dr Margolin was from Sencimin, Poland. After surviving from Nazi attacks in
Ger many, he along with other.Senciminers, had come to New York to take shelter. He
was a very bright child. He recited long Bible pages and studied the Talmud on his own.
In his teenage he loved a girl, Raizel.

S AR UIeius & IR 2reX ¥ 3| S & 1fort & SmepHun ¥ 99 o1 & a1 98
31 SR & I1Y TROT OH & foIE =giies o 718 U1 98 9gd &) 8HeR 8= ¥| 98 SIgfad
& - U Ugd ¥ 3R I5i- dags (Fgal B & Jxad di) Wd g I | e
fHRIRTARAT. (teenage) T T8 IS I UH Hxd U

(D) Answer the following questions in about 100 words each:

Y TS U BT ITR TTHIT 100 Yec] H ST -

Question 1. According to Dr Margolin “American Judaism was a mess”, comment.
S1. ARMNITH & AR 3AR®T &1 Tgat ¥ sregareyd oTl” fewoh S|
Or

What is Dr Margolin’s view of the kind of life the American Jewish community
leads ?

S ARG BT SARD! Tget THS & Siig & Ufd eBHI0r & IR J 1 faar § 2

Answer: Dr Margolin thought that American Judaism was a mess. Dr Margolin’s view is
not good towards the American Jewish community. He observes that the Jewish laws
and customs were distorted by them.

They showed their disrespect for Jewish laws by wearing skull caps. Ear-splitting music
and unruly dances had no place in Jewish culture but they were enjoying it all in the
USA.

Jewish people had started setting marriage ties with Christians in the USA. And Jewish
people were simple fellows in Poland but in the USA. they had turned drunkards. Stacks
of liquor bottles could be seen in wedding parties.

E1. IR T8 Arad g o 3iResT 1 aga o sreafyd oT| 3Mike! agal Guer &
Ui ST AR &1 faaR 331 761 81 98 <7d § & ugel fom g dfa-Rarsi &1 381



fagpa o= foar Ut 37 3z ggdl Afa Nareil & ufd T =81 o1, 9 RR 3t 2l ugaq A1
HFHIS T 3R UE, T & o Tl TP | Pig RIF a1 T Al d 39 I BT
3AR®T § 3{< o 8 U

gl ATl = ST H S9Ts THad | faa1g 1 = R a1 oT| d AN Uielvs § THie)-
TE A QAfeT SARDT & SR TRl (RIS &7 T A | Ja1ged JARIg H =id Uy yardf
! dadl & G2 ¢ o ¥ahd 3|

Question 2. Dr Margolin says that his wife has mania for cleanliness while Gretl
says that: Margolin’s sense of honour amounted to a mania. Clarify.

ST ARMeF Fgd & S 3! Ua! &l B1E & Ufd IS (9% I1 UNTYH) g STalfes ded
FHEdl & [P AN H G (3MTER) BT HId IS HI 8¢ dP g | WY B

Answer: Mania is extremely strong desire or enthusiasm for something. It is a craze.
Gretl has mania for cleanliness.

Every day she cleans everything in her kitchen, scours the oven daily, polishes windows
of her apartment on the sixteenth floor, that too without using a safety belt. She insists
on doing all the household work herself.

She keeps everything neat and clean. On the other hand Gretl says that Dr Margolin’s
sense of honour amounted to a mania.

People frequently comment on him but still he remains non-responsive to them and
maintains self-restraint. He believes in humanity and honours mankind.

IS ot el & Ufd U 98¢ dig 381 a1 3ifd I8 (F1eh IT UNTAY-) BT & | I8 Uh
P TT TP Bl & | ITd P Thls & Ufd I &

I TS f& 30 TSR B YD ag DI JTH B! §, 3G Bl S-S R T HR]
g, Wgﬁaw&mﬁ&mﬁﬁ?aﬁ@mmuﬁmm%% o} fomT qRem dee
FHEY Y|

I8 TR HT IRT ST W FRA W OR <ot 3| I8 UAD I B! Th-GRT T 811 T 3R
I HE & fob ST AR P TR BT HId UNTAUH B 8 d Ugd b1 8|

T IR-TR 39 W fewguft a8 Afes a8 I Ufd AR I8 8, 3R 31U 31 Iad
1Y T ¢ | I8 HHadT H Ay 31 § 3R IS &1 T &l g |



Additional Questions

Short Answer Type Questions

Answer the following questions in about 50 words each:

Y TP UY BT IR TTHT 50 Usal | ST

Question 1. Why did Dr Margolin not particularly want his wife to accompany him
to the wedding?

ST AR foRiY =0 ¥ of g1 9rgd o fob 391 Ue faarg # 39 91 oI 2

Answer: Dr Margolin did not want his wife to accompany him to the wedding because
whenever he took her to a wedding, he was ashamed of celebrations made there.
Besides this, Dr Margolin had married her not abiding by Jewish customs so he thought
Senciminers would not like this.

ST ARMTCH &t =1gd o fb I7eb! el I7cb 1Y fdaTe YARIE H S Fifeh &e i 7
35 (3T Ut 1) faaTe TARE H o 91d ¥, 981 o9 UHR & JHRIE 8id ¥ 399 S
(AR ) RfHwaT ST TS ol

D AT ST AR A ITY (3T Uell ¥ Tgat At Raret & IR farg =¥ fovam a1
SR I (@RS =) e SR & AT 38 T4 ol B3|

Question 2. What topic does the merry banter at the wedding invariably lead to ?

ST & GRIFHT 51-Hole §R =N H ford fao R uga oan g 2

Answer: The wedding hall was filled with people, food, wine bottles, and music. People

were dancing and enjoying. The merry banter at the wedding invariably led to the bitter
memories of the past. People were frequently discussing cruelities done to Jews during

the despotic rule of Hitler in Germany.

faTe &1 gid (Ham) ATl |, WH-UH T, TRTE B Sidal 3R Tt I U=T garm T Fﬁﬂﬂ?ﬂ
R TR U 3R GRET 71 3R A1 wﬁgxljmﬁﬂwm YddhTd &1 Hadl [fadl IR Ugd
T ﬁﬂ@ggﬁﬁ?ﬁﬁ%ﬂ%emﬁﬁmw%mw WWW@WW
JIadld B I




Question 3. Who was the woman that Dr Margolin suddenly encountered at the
wedding?

g8 Afed & Jf S8 ST, AR &1 21t & S I g3 2

Answer: In his teenage Dr Margolin loved a girl named Raizel. Due to different social
status he could not marry Raizel. Later she and her husband both were shot dead by
Nazis in Sencimin, Poland. Dr Margolin had not forgotten her. At the wedding it was his
illusion that Raizel was there. In fact Raizal was not there.

SO fHTIRTERT | ST AR IA9d A& Uh ded! ¥ TR Hd 3| fUa JHoid TR
P PHRUI I8 I9Y IaT8 T8 B I &1 a1 § I¥ 3R IT& ufd & Tiforal gr1 ARy,
Ureivg H AR fagr | ST AR I 1ot Tt U1 f4ars H g8 b1 uH @iayH) ol fb
g1 avd ot | 9ra § g8l Igeid et A

Question 4. What were the events that led to Dr Margolin’s confused state of
mind?

3 HIH-T gt ff frgia ST ARMiH o1 ARy fRufa 1 s -ood &= faar ?

Answer: The events that led to Dr Margolin’s confused state of mind were —

1. His sudden encounter with a woman who had a familiar face and voice and the
same name Raizel (Raizel was Dr Margolin's beloved in his teenage).

2. His wallet was missing which he could not find till the end.

3. His thought that the lady might be Raizel's daughter, not Raizel, because she was
very young.

3 geATE forgla 39! (ARMfeH ) aiie fRUTT &1 3 -oawa &< faar, 3 of -

1. 3Ih] U AR T 3 JroAT forehT A8, 3R 3HTaret Ieid I fierd 9, gt 7
IS U RIS teenage T AR &t UffenT oY) |

2. 31 U T T, O 9 3id db el Wi Ul |

3. W%ﬁﬁ;ﬂﬁau@mwﬁéﬂawdﬁ ot IgeTa gT, Fifd 98 B!
HH 3Y |

Question 5. What were the personality traits that endeared Dr Margolin to others
in his
community?

ST AR & Hfdda & d S 07 A S I8 T | 3R & o S s=ra 2 2



Answer: The traits of Dr Margolin’s personality were :

1. He had a strong affection for Senciminer society in New York.

2. He was a cultured man.

3. He was a veteran and scholar.

4. He was kind hearted.

5. He had been very regular in attending all the meetings of the Jewish community.

6. In his professional life he was very honest and dedicated to his patients.

7. His personality was impressive. He was tall and handsome and had a way with
women.

All these traits of his personality endeared him to others in the community.
ST AR o Afdkded o 0T Y -

98 dieh # ARIEFR AT & AN 9 98¢ U &-d 3|

98 U YIRPpd HAfad A

I8 Sy 3R fagH 3|

98 &UTq g&d & Afad U

9% ggdl 9qerd &1 guit S § Fraftd wu 3 Sufa 8

30+ ATAHI Siia- § 98 9gd o] SHMGR d 30+ Fisll & Ui Fqiud J|

;;%p%oqfo?dcqqumﬁ%magmaaawﬁmﬁﬁ?ﬂ%ﬂ@f%wumm
|

8. dg 3MU-! dgdl Y & MM &l U § 1t Gpud J | 390 Afddd & 3 it 7o

35 g 4 gaRl o ford g sHrd 9

Nouhkwn =

Question 6. Do you find the marriage party as the predominant essence of this
fiction ?

R 3UP! T ¢ [IaTE THRIE S HIeUi-dh HUT BT B A § ?

Answer: Yes, definitely the marriage party is the essence of this fiction. During the party
itself Dr Margolin falls under the influence of illusion. In his illusionary state, he meets
Raizel, his old beloved who was killed by Nazis after her marriage with someone else. In
the party people discuss their painful experiences and memories of the war. And they
discuss how Jews were exterminated.

g1 [y ©9 3 fare THRIE 39 YT &1 I dd &1 UKl & o gl Sf ARAeH YH
@fIYH) & THTE T STaT 31 30 Wi & fRufa & € 98 sroeit R Oftyest rawia ¥ e @
o8 Tt &R & Try Iuh faare & &g Ao 3 4R fean ot | urdf & € avT g & oA




T YT 3R U1eT (o) B e PR o1 3R 3 39 1d W+ 7t v € o
UHR Jgfedi o AR fear T 1|

Question 7. Do you think that because of different social status Dr Margolin was
not allowed to marry Raizel, his beloved?

T 3T T 8 b f3e TrTfores TR & SR SF ARMIA &Y Jwd, 3+t Ui
faarg &1 goirerd el fret ot 2

Answer: Raizel was the daughter of a watch maker. Dr Margolin belonged to high
society. He was a talented writer, doctor, and a social worker, and was born in a priest
family. In those days the profession of watch-making was looked down upon, and hence
this difference of status separated him from Raizel.

IS U gat fAafdr &t 9t ft | ST AR 3= 9HS ¥ U1 98 U UfHTRITG TR,
Sidex, 3R IS HRiddl 4 3R U Ured) URaR # = 91 34 fe aSamsh & aar
P 9 TR BT THIT ST UT| 31d: TR DI 39 FHFA 7 3o aod o 37 &R Tl

Question 8. Dr Margolin was dedicated to the community and his profession to the
extent that he. had no time for his wife. Comment.

ST AR 30 JHE™ 9 30+ AT & Ufd 39 8¢ db JAd o b 37 U g1
Ual o ford ff o =7gt gl un| fewoft |

Answer: Dr Margolin attended all the meetings and programmes of his community
regularly. He was fully dedicated to his profession. He served many of his patients
without charges, and treated all his patients respectfully. Many times he had to cancel
his personal programmes. Thus, he didn't have enought time to spend with his wife
Gretl.

ST AR 3U- T &1 9t S3®! a HrIGH § (Hafid Ui dd 3| 98 S0 SIa9™d &
gfa Ot O qufta 31 98 3u- 9gd A TIel &I fomr % ford st Tar Ue avd 3 8iR
3T Tt TRIST ¥ 3MTeRYdd TIER X ¥ | T§d SR 38 M0+ TG ITd HRIHHI BT AR
AT ISl UT| 39 YR 370 U U Ut & 1Y fadm & o vaie v =18 giar uTl

Question 9. According to Dr Margolin, ‘American Judaism was a mess’. Comment.

ST AR & AR MRS Igdiu U sfagaw ot | fewoft sifor

Answer: The Jews after the holocaust, took shelter in America. Gradually they started
getting married to Christians, as Dr Margolin did. Hence American Judaism, according to



Dr Margolin, was a mess in the form of mixed cultures. It was reflected by their dressing
sense, ornaments, make-up, ear splitling music, and unruly dances, etc.

SEER & S1e Fgfeat 4 efiftet § TRUr A ot R-9R I Sarsal &y fare Ty
FRA 1 & IR T ST o ST aRmfer A fardn| Sid: ST AR & SER SER®!
ggciuA fifSa Yepfa & ¥u o U /e @rei) At g8 3% UgHa, TeH, URIe,
DHBIS | Tiid, His T 31T | Fretdhr UT|

Question 10. Write in short about Gretl’s family.
Yo & IRAR & fawg # Jeu § Fargy|

Answer: Gretl had been a nurse in the Berlin hospital. Her one brother, a Nazi, had died
of typhus in a Russian prison camp. A second, who was a communist, had been shot
dead by the Nazis. Her aged father stayed at the home of his other daughter. Gretl
regularly sent him money.

Yo S ST H T -4 g3 Ha At | STPBT T HIg Sl fob Aol T, T =4 ol iy
H TRHY (U UHR & §EUR) I TR 7 UT| Th ORI HTS il fb Udh Aregard! oT, &l Aforat
mﬁﬁml ISP I Ul S0 gORl 91 o TR ¥5d A1 Yed FMafhd &0 4 3¢ oY

|

Long Answer Type Questions
Answer the following questions in about 100 words each:

Y TP U BT ITR TTHIT 100 Yeal A SHfTT|

Question 1. Why do you think Dr Margolin had the strange experience of the
wedding hall ?

3 fdarR & sf. aRMifer @ 39 faarg ¥aRrle H fafa srya &1 g ?
Or

Dr Margolin wished to marry Raizel at the wedding in Brownsville. What made him
realize that he could not do so ? (Board Model Paper 2012)

Answer: Dr Margolin had the strange experience at the wedding hall because the
memories of his old love still haunted him. He had not forgotten his beloved Raizel who
was killed by Nazis after her marriage with someone else. Because of their different



social status he (Margolin) had not been able to marry her. He was under the influence
of hallucination at the wedding hall, and hence he felt that Raizel was present there. He
wanted to fulfil his teenage wish of getting married to Raizel but soon his hallucination
was gone. And he realized that Raizel could not be there.

ST ARMfeH @1 faars TuRTe & 98 fafe srgva gen wifes 396 TR (@8 &) 017 H
Wit @rd) snft oft ST R BE g3 | 98 S UitesT Iwra, o for Saes fonddt e/
i & 1Y fqarg & a1e 1ot 4 IR & o1, o1 Yo a8l urn ol

I fHe IS TR P SR AR I8 faarg T8l o Jeb1 U1l faare J9RIg # 39
AfayH 81 a1 U1 FoY 3 7y g3 (@ fob) I0wTd 98l | 98 Xaid & A1y faarg

PR YT fhRIRTARIT B TG ! YRT BT ATEdl YT Al Sleal g1 ST AfdHH e 8l
T 3R I HeqW b fo Iratet gt et &1 Tabat ot

Question 2. Was the encounter with Raizel an illusion or was it due to his being
drunk in the wedding-hall ? Was Dr Margolin the victim of the accident and was
his astral body hovering in the world of twilight ?

1 31, ARG BT aeid ¥ U1 T yH o1, 3iyar 39 faarg gia & Sifde dH T ym U1 ?
T 3. AR goe BT RISR AT 3R FT 3BT Y& IRR e TR & 9B Al
T|T YT ?

Answer: It was not an illusion because Dr Margolin was conscious of the fact that his
beloved Raizel was killed by Nazis. He had neither enjoyed food nor sipped liquor. He
had not become victim of an accident because at the end of the story we find him in full
consciousness.

However it can be said that it was his astral body (the body sub-conscious) which had
wished a meeting with Raizel at the wedding hall. While talking with Raizel, he was fully
conscious. Considering all these factors it can be said that it was his deliberate wish to
enjoy his fanciful scence of romance with his old beloved whom he loved deeply.

g U YH o] 4T i SI ARG 39 I &I od Y fob 39T UHBT Ia9rd ol ATroral
AR e u1. 1 IBIA faare TaRIg & 7 @ W1 @i o7 3R 7 g} Pis =it 0 uer foan
7| 98 ot geieT & IR 1 781 82 ¥ ifd Hart & o H 81 3= T aRe Iad
a1 ¥ @I ) g@d 5|

5= +ft T8 g1 o Thar 3 fb I8 e (3nfdier) TRR o1 oY 3rda TR H T T el
T | YIS ¥ ST R T (HedT H) a8 T a8 81 | A1 37 9l a1di & ¢d g4 I8
HEl ol YT ¢ b T8 37! ! Jrgh w31 Y, S [T Uit forl 98 988 WR ad




Y & 1Y 3 YAYU FHouTeTd 4 B 3= o B! (YT 307 TR UH B! 7™ 3
ford U8 HeUTHD T I51H S DR T o)

Question 3. In what way do the survivors of the holocaust deal with life?
§gc R UeR # Shifad 99 T AN {6y YHR Sia- BT ATEAT HRd 62

Answer: Despite all hardships or circumstances, life goes on. The Nazis slaughtered a
large number of Jews. They tried to exterminate the whole population of the Jews. The
survivors left their homeland and took shelter in other countries.

The following points : throw light on their lives after the holocaust:

1. The survivors always feel the pain of leaving their own country.

2. They always miss their family members, relatives, and friends lost in the
holocaust.

3. They have to live in a mixed culture, the culture of a foreign land (where they
have taken shelter) and that of their own country.

IR Hfersar an uRfRufaat & srasg of et T gt 81 Tiforl 3 ot Sem o
Tgfedl &1 AR

I Tgfedl ) TR} SR &) YU 3 &1 AT fordT | S @l o T & Igi U
AU T (5T $T 331 BIS AT SR guR o & IRUT ot

fafiad farg SFRER & 918 & 3% oiia- IR Yo S1ad & |

1. SN 52 AT 307 S ) Ble BT < gHIM HEYH P 8
2, ﬁgﬁw%w,mﬁaaﬁlﬁsﬁmﬁwﬁ@qﬁémm
|
3. 3= Us Hf¥a Tepfa & 381 US 38T 8- faesh Twfa (ora oz & 361 TRuT &Y
3R 31 W8 & <X B AHd BT HYOT|

Question 4. Surrealism was an artistic and literary movement in France between
the two World Wars. Its basic idea is that the automatic, illogical and uncontrolled
associations of the mind represent a higher reality than the world of practical life
and ordinary literature. Do you think this story could be loosely classified as
surrealistic ? What elements in this story would support the idea ?

Surrealism &I 194 TG & §Id & JAT H Wi H Id] Udh HAlHD d Iligidd SMT<Ia UTl
9% T faarR g8 ® o uftass & Wadenferm, adbe, sik sifdfd faaR aragie




3HAT 3R T e § HfYd Sl aRafadhdl URdd ®3d ¢ | 37 39 Aiad g o 39
HEMT B o UBR ¥ Surrealistic At & Faifepd faran <1 Gvar & 2 39 Bl & S A
Id 39 AR A T A g 2

Answer: Yes, this story can partially be classified as surrealistic. The main protagonist’s
illogical and uncontrolled association of mind support this view. Dr Margolin’s thoughts
make us aware of his past and its impact on his present.

In the story the author tells us about the childhood of Margolin, his love with Raizel, and
his married life with someone else than his beloved. Dr Margolin has an illusionary
encounter with Raizel and wants to fulfil his suppressed desire of getting married with
his beloved Raizel. Hence the entire atmosphere in the story is illusionary that allows it
to be classified as surrealistic.

81 T BT AP TG surrealistic (W oY) ot § ifepd fovam <1 Twar 81 HeH &
T U 81, AR & ARTSh & 3rdlfdhes a afd faaR 39 d@ &1 w99 avd g1 8f
ARMITH & TR g IUd YIBTA (past life) 3R IAHM STa R 3D YHTT F 3favTd

ENGE

U FHeH! | dE® g8 AR & a0, IA9Td & 1Y 39D UH, 3R 39 faanfed siam
& fawg o 911 8| ST ARMITH &1 Ia9d § UTHS (illusionary) JTHAT I1 AR gidl g
3R g IASTd & 1Y 37U faaTg 1 Sid 331 1 R BT I8d ¢ | 3fd: IRY HgT &
qTATaRUT YT SYdT BT &, T BRI Y surrealistic 0Tt F Fifgd fovar ST qwmdr 81

Question 5. Comment on the technique used by the author to convey the
gruesome realities of the war and its devastating effect on the psyche of human
beings through an intense personal experience.

TG GRTYANT H 18 T I Tebritep UR el HISTT foree Head A S8 g B HIDR
qRAfdedl & gfrd fadl § (UTd! db TgardT §) 3R 1 § Tl &1 ARl IR gH
I1dt e UHTAT & SUP Uad SAfGavTd (€1d) Sl & I1Y Td fhan g

Answer: The author has used very special and effective technique to convey gruesome
realities of war and its devastating effects on the psyche of human beings. Dr Margolin
is the protagonist (main character) of the story. Through Margolin, the author has used
his technique.

The writer has described Margolin’s distorted relation with his wife Gretl, his dedication
to his profession, his illusionary encounter with Raizel, his beloved. All this is the result



of devastating war. Even in wedding parties, people have painful discussions about the
war. This also conveys the gruesome reality of the war.

TGD - 9gd ol (A T YU dh1 gRT G Bl HIHR IRATADHdl AR AHd ARTD W
ISP [AARIGR THTT DI SR04 ¢ | S AR 39 Sl &1 8T UH § | AR &
HTeOH ¥ gl O + 3 I 1 SUTNT fha g |

TGP A AR & 301 Ut Jcdt o 1 fadd darfess T, Taemd & Ufd S
AU, Ih! VAT IraoTdt o 1Y WS FTHAT (HAThTd) P auH fhar g1 3 9t 39

I TRIR g &1 UM § | T8 ao & faarg TaRie! § off gg & fawg & anl &t gaid
qId gl o | I8 o1d f g & Yo aRafderdl ! giad Hel g

Question 6. Why did Dr. Margolin suffer from hypochondria?
1. AR g & WY &1 AFRS dART 9 difSd i Xgd 47

Answer: 'Dr Margolin suffered from hypochondria because he had been shocked by the
mindless massacre of Jews and extinction of his family. It had destroyed all his faith in
humanity and rooted out his last hope of better days.

All these incidents filled his mind with pessimism and later on developed into
hypochondria. ‘Besides this, he did not believe in God which could have relieved him
from his depression. He always brooded over his dark past which aggravated his
problem. The memories of his beloved killed by Nazis were filled in his mind.

S1. AR Jgiedl & IHfgd RUGR Ud 30 GRAR o fa1=1 ¥ Wl 38 T U1 3™
T AT IR I faym JATE 81 77 o 3R 3=y fat &bt Irdie ) quf =007 gAT R
feam 11 39 gaft geAnsit 3 399 fermT &1 FRmmare § WR faar o1 8k S fos a1e & i
& HT FI. SR o gRafda gt mar a

9% SHfaRad a8 3R W i fayrg 78 Ha 3 R 39T 3/a9Te A 3R fAddr| a8
UM YdbTd & R ol & IR H Trad 38q & o gun iR warer TR 81 15| iforay
SRI AR T 34 U7 AN &1 a1 I AT & W_1 g3 |

Question 7. Why did Dr Soloman Margolin, a prodigy in childhood secretly feel
that he was a failure?

AU & UITHTE STA® 81, T AR T 0 3 98 H1 Heqd $Rd U fh 98 T
3IH fad §?

Answer: Dr Soloman Margolin was a prodigy as a child. He could recite long passages



of the Bible. He studied the Tulmud and commentaries on his own. When he was still a
boy, he had sent for a Responsum to the rabbi of Tarnow who referred him as ‘great and
illustrious’. He had also become master of the Kuzari.

He taught himself algebra and geometry and translated Spinoza’s ethics. Yet he
squandered his talent by changing his field of study again and again and wasted his
years in learning languages, Thus he feels that he was a failure and he could not reach
there where he could.

S1. T ArTied U BYTdt S1ad | 98 d18dd & avd-atd au8 A1 9abd A1 34
TS 3R fewfort o1 sreqg= 3o 3y foar U1l e § Had 9= ¥, I8 <A1 & &l Dl
OIS TR Th U T IR WSl YT Forg 1+ I8 He™ fag F<fiid fobar ol

I8 HOIR! & HRER A | Igi SISO qun o T & Tt ot 3= fumen & Hifa
R BT SaTS foba o7 bR ot IR 3ot UfaHT ) IR 9R 37ea &5 Sad IR daig B
fem SR yTwrefi & sfeqg H Wrell gaia fbd | 39 UbR I8 3(IHd B g b d Th 3B
Hfad ¥ 3R 98 981 To! Ugd U] STal Ugd Tavdl |




